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Recall: The simplest quadratic relation is y = x?

On rearranging, it is possible to get answers

=S
in the form x=+/y =

s

With actual values, we might see results such as

J5 342 3

2

It is often required to keep answers in this exact form.
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A) Multiplying & Dividing Radicals

In general, \/;X \/5 = \/%

and ﬁz\/E where b # 0
Jb \b

Ex.1 Simplify.
@ /(4)(9) ®) 16 _ g5
; ——
= WW \fj_
= 2(3) -3
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B) Simplifying Radicals
A radical is in its simplest form when:

- the radicand has no perfect square
factors (other than 1)

- the radicand contains no fractions

- no radical appears in the denominator

V8 =22
1 1
4 2
2 2V3
/3 3
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Ex.2 Simplify
@ V32 = It -2 (b) 2475 = 24 (27)(3)
=lic JVz =252
- =2(DH3
‘(\]Z = (o=
(c) —3V8 (d) —\F L 7z
PN
=3 \l@_(_a(z_\ o RS
=3z f =
=< —
\E \Z S
— 3=
&
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C) Adding & Subtracting Radicals

- they must have the same radicand.
- simplify radicals to ensure like terms (same radicand)
are revealed.

Ex.3 Simplify
@) 43-245+63+5v5 Y% — 2y +6 % +S-8‘
= lo\yR + 3% = (D —\—gta_

(b) 2412 -5427 +3./48 _z\f‘r g\r\r "f'Sr\S_
—Z(z)\r ~sRE
=43 —ISVT +I27
=z
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D) Binomial Multiplication of Radicals

/m
Recall: (a+ )C+ =ac+ad +bc+ bd FOIL—
\\5_/

o +b
Ex.4 Expand & Simplify C 'o..—cT;c._{
(345 +2)(25-3) td jod| i_)

=(3J§‘}_(2\ﬁ-)+(?\ff>('3) +(7-WI(7-F> *‘7{“"‘)

=642 9T wyF - 6

= 30 -S{T — 6 (3 x-I—Z)(?z—?)
= 24-S{¢ = bx +4= 6
= 6x"~Sx—4

E) Rationalizing the Denominator

A radical is not permitted in the denominator. If the

denominator is a binomial, multiply by the conjugate
of the denominator.

Given avb +cyd, the conjugate would be avb —cJd
Given avb —cd, the conjugate would be ab +cJd

Sote |
Ex.5 Bt the conjugate of each radical
@) J5-2 (b) 3J5+2410

Conyt S + {2 oy 3§T ~2(T5
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\

Ex.6 Rationalize the denominator

(a3 - 2f)@'_+r> >
(-2 (= +{z)

_ GBXR)+(0NR) + )R + (o )E)

(FXR)+GXR) +CRYE) + CR)(E)
- I +4e -2l -(7
N+ -{& -7

_ 24—y

3 — 2

= 8+ 2
1

=¢+2/e6
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Assigned Work:

p.167 # 1-7(odd), do even letters for extra practice
#9,10, 12, 15%, 16*

lelée_,q, 12
2 y{n Je =466

6© S {57 v
=-S{1{< 4B 3

AN A Iea (W i
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9 x

L =950
.
¢so
=58’
X =\ ¢SV ___§~W
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=

P=2E+3lc+ {0
=2 3 o
= 2§ +6{T +4§T
= §z+yfS
A= bh
2

= GeE)erR)
y
= Bm

= [2
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